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Recommended weeks for manager’s visit: if he is to see three jobs in process he 
would have to visit from weeks 6 to 10 depending on the scheduling of D.                                      
 
Task D would have to be delayed 3 or more weeks for the critical path to change. 
Otherwise the critical path will stay the same with (A, E, F, G, I). If task D was 
delayed by 3 or more weeks the new critical path would be (A, D, G, I).   
 
The impact of any other delays significant enough to extend the projects minimum 
completion time: 
There are 4 tasks that are not used in the critical path. These tasks could become 
part of the new critical path. Task (H) has a float of 3 weeks. Therefore if Task (H) 
was delayed by three weeks or more it would create a new critical path of (A, C, H, I). 
Also task (C) can only be part of the critical path if Task (H) is delayed. Task (C) has 
a float of 0. For task (B) to be part of the critical path it would need to be delayed by 3 
or more weeks but only if Task (C) is delayed. This would make the critical path (B, H, 
I). The easiest way for the critical path to be effected is if Task (D) was delayed 3 or 
more weeks because it has a float of two weeks and does not rely on any other tasks 
to be delayed all possible paths would effect the recent critical path and extend the 
minimum completion time.    
       

 Free float Total Float 
A 0 0 
B 3 6 
C 0 3 
D 2 2 
E 0 0 
F 0 0 
G 0 0 
H 3 3 
I 0 0 

 
 
 

 
 




